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SECTION-I
Q.1 to Q.3 : Read the passage carefully and answer the following questions.

A crow was very thirsty. It flew to a garden in search of water. There was a
pot having a little water in it. So the crow put pebbles into the pot. The water rose

up. The crow drank it and flew away.

1. Who was very thirsty?
(1) cow (2) crow

(3) parrot 4) fox

2. Select the correct option and complete the sentence.

The crow flew to a ........... in search of water.
(1) Garden (2) Well
(3) House (4) School

3. What did the crow put into the pot?

(1) Leaves (2) Sticks
(3) Pebbles (4) Money
4. If dogs: bark
then bears:
(1) Snore (2) Squawk
(3) Squeal (4) Screech
SPACE FOR ROUGH WORK
0302/ Hindi Set-A 2 of 32 PTO.

5. Select the correct option and solve the puzzle.

Mk Lo (2) m, g b
3) 1, S5 @) e, h,s

6. Select the correct alternative and fill in the box.
(1) East west
(2) South
(3) South east

(4) South west

7. Select the correct option and complete the sentence.

I will give it back to you ...................
(1) Yesterday (2) Last week

(3) Tomorrow (4) Long long ago

SPACE FOR ROUGH WORK
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8. Choose the correct request from the
My friend forgot his pen.
He said, "

(1) Please give me your pen. (2) He gave me his pen.

(3) I brought your pen.

9. Select the correct option.
We should cover our mouth when

(2) Crawl (3) Sneeze (4) Climb

10. Look at the given picture and choose the correct conversation.

: Give me tomatoes.

: Where's you bag?

: Do you like roasted corn cobs?

: Oh! I love them.

: Hello uncle can you deliver the box today?
: Sure.

“4) : Have you tried these cakes?

8
W > WP WP WP

: This is a new cake shop.

(4) Can I give my pen to you?

SPACE FOR ROUGH WORK
Pt R R A
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14.

1S,

16.

. Select the correct option.

Keep your hands on your ............
(1) waste (2) west

(3) wait (4) waist

. Find the odd pair.

(1) August September (2) October November
(3) April May (4) June August

Find out the odd term
(1) Thigh (2) Deer
(3) Thieves (4) Oxen

Select the correct option and complete the sentence.

Ishas:s oo eat fruits.

(1) doesnt (2) doesn't

(3) does'nt (4) doesnt'

Select the correct option and complete the sentence.

A G0 s e ettt oedret Auto-rickshaw

() A (2) The :
(3) An (4) No article

Find the odd group
(2) tall, fall, ball, call
(4) get, wet, not, let

(1) king, ring, thing, sing
(3) keep, peep, sheep, jeep

SPACE FOR ROUGH WORK
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17.

18.

19.

20.

Select the correct punctuation mark for the given sentence.
Does she go to school

(2) Comma

“)

(1) Full stop

(3) Question mark Capitalization

: Maha Sale

g Sari and Kurti

: Offer- Buy 1 Get 3
: Rs. 1000/- only

. .
special offer is

The
(D
2
3)
(C))

Buy one get one
Buy one get two
Buy one get three

Buy one get four

Choose the correct sentence showing proper position of a comma.
(1)
2)
3)
“)

Master Master have, pity, on me.

Master Master have, pity on, me.

24.

Master, Master, have pity on me.

Master Master have pity, on me.

Solve the riddle.

I use scissors. I use a needle
and thread. I make clothes
from cloth. Who am I ?

21.

22.

23.

2S.

Find out the correct word to complete the given diagram.

(1) Run

(2) Write beautifully neatly

(3) Eat

(@ Steep

Where should be the exclamation mark in the given sentence?
Select the correct option.
Good morning Kondiba

(1) after morning (2) after good

(3) before Kondiba (4) after Kondiba

Choose the correct option.

Many Many Happy Returns Of The Day ! ]

This message is about.................

(1) Wedding (2) New year
(3) Birthday (4) Journey
Select the correct alternative

As yellow as ...........

(1) Dawn (2) Rain

(3) Turmeric (4) Honey

Find the odd group.
(2) group, good, gate, ground
(4) kite, kangaroo, know, king

(1) cement, city, circus, centre

(3) brown, bucket, black, brinjal

SPACE FOR ROUGH WORK

(1) Tailor (2) Potter (3) Cobbler (4) Jeweller
SPACE FOR ROUGH WORK
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| SECTION-I =

INTELLIGENCE TEST

26. In the word "ADJECTIVE’ which letter is third to the left of the middle position

letter ?
(1) D 2 J
3) Vv @) 1

27.[ABCDE FGHIJ KLMNO PQRST UVWXY |

In the given letters series, what is the position of the letter from start which is
fourth to the left of the letter which is tenth from the right side of the series.

1 19 @) 12
3) 20 “4) 6

28. How many total vowels are there in the given sentence ?
‘Rupa gave letter to Ram.’
1 s 2 3
3) 8 “ 9

29 BRSNS G oA R L33 21|
In the given number series, what is the difference between the square of the
number which is 6th from left and which is 7th from right side ?

(1) 34 2) o
3) 8 4) 16

SPACE FOR ROUGH WORK
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SECTION-II
Ffgwar =reroft
26, TRATaEmURe® = % 9 § #F @ 9 # A R § a=a a6 $E-w
¥
(1) = () fa
@) 4) =

27.[ABCDE FGHIJ KLMNO PQRST UVWXY |
f T FETEiEE I A Y HE A H AEl AR B AY A F IE 9
i W FE-T FHHE SE?

1 19 @) 12
(3) 20 @ 6

28, ‘veifedss, FAE, WA, 98, @A’ T VSR H HwA fhad §gwau §7
Q) 4 @ 3
3) 8 @ 9

29 [BI2 7 A BR O S M E RA NGy B Tas IR}
& T FHETEn ¥ A SR Y TS AH w1 M R T AR Y @S b ® o
H fdaT SR 2?2
(1) 34 @ 0
@) 8 @) 16

SPACE FOR ROUGH WORK
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Note for : Q. 30 to Q. 34 : [Find odd man out]

30. (1) Puppet show (2) Television

(3) Computer (4) Cinema
31. (1) May (2) July

(3) June (4) August
32. (1) 2651 (2) 2246

(3) 5324 “) 6215
33. (1) 9338 @) 7276

3) 9295 4 4279

2) 3 4)

35. In the given number series. select the comect option to replace the question
mark.

3L 87 01522 31, ¥
(1) 46 ) 40
3) 44 “ 42

SPACE FOR ROUGH WORK

ae2/ -
Hindi Set-A 100f32 PT.O.
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UVWXY

w30 ¥ 34 & fou guar- oW w wEEm

30. (1) A

(3) S
3. (1) =
G) [

320 (1) 2651

(3) s34

33, 4(1) 9338

(3) 9295

(2) A
(4) fam

(2) ged

(4) 3=

(2) 2246

(4) 6215

(2) 7276

(4) 4279

35. 9= §F T Sonmiaw § gwiEed #1 W S-S §en Jwi?
3, 4. 7.0, 1552231 2

a) 46 @ 40
@) 44 @) 42 °
SPACGE FOR ROUGH WORK
| 4
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36.

37.

38.

In the given series of figures, select the correct option to replace the question

g

"

g8

~
-

-
-~

(1) (2) 3) (4)

Select the wrong term in the given number series.

2, 7, 28, 64, 126, 215
(1) 28 (2) 64

(3) 215 @ 7

Select the correct option to replace the question mark in the given number
series.

14, 16, 19, 24, 31, 42, 55 ?
(1) 65 (2) 72

3) 75 “ 70

SPACE FOR ROUGH WORK
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36, F9 & T wpfad ¥ UF fGEe ymn &1 9 2098 B TeEnsl WAEed &
™E W R AEA A "=

(

1) 2) 3)

?
’ > P

)

37. 99 & T gEmfas § oM 98 TS
2, 7, 28, 64, 126, 215 <

(1) 28
3) 215

(2) 64

4) 7

38, 9 & T TomieE § yEEE @ WA | HE-9 e S, st vEE

wHF faal|

14, 16, 19, 24, 31, 42, 55 ?

(1) 65
3) 75

(2) 2

(4) 70

SPACE FOR ROUGH WORK
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% in the given groups of

39. Select the correct option to replace the question mar
signs.
2

S X S G < S XSS

@) <>=x=+ 2) +x+<>

B) +x<>= @) +<>+x

40. Tf Deer is called as Rabbit, Rabbit is called as Shekaroo, Shekaroo is called as
Porcupise, Porcupise is called as Tiger, Tiger is called as Bear then which

animal is the state animal ?
(1) Shekaroo (2) Tiger

(3) Rabbit (4) Porcupise

41. The sum of ages of Mother, Father and Son three years ago was 73. What will
be the sum of their ages five years later ?

(1) 97 2) 75

3) 78 (4) 88

42. Anushka's score of marks is more than Aarya but less than Aaboli. Shevanti's
score is same as Aarya but to more than Chameli. Who has scored the highest
marks ?
(1) Aarya (2) Aaboli

(3) Shevanti (4) Anushka

SPACE FOR ROUGH WORK

0302 / Hindi Set-A 14 of 32
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st & T oo § wwEfEE F1 SwE Ao fued wE s faa

39
P X, X, Xy e S
(1) <>+ %X+ 2) +x+<>
3) + x< >+ 4 +<>+x
40, foT1 1 wEW FF, GO F IEE, EE H FEE, TR HI GO IR AR
F) W] Fel U A HER k1 TG HA-H B2
(1) =& (2) @iw
(3) @@ (4) BFX
41, TE-fa SR A2 w1 dE e gl F A HoAm 73 a6 e @ 9 9 A
F1 A w1 A fma e \
(1) 97 (2) 75
(3) 78 (4) 88
42, SR B AED ¥ HfUE W sEed § w9 SE A T dad w1 sl N &
W oAt § AR sE fae & @ ged sfus oiw fRR e
(1) s (2) Sraret
(3) &t (4) 3T=H1
SPACE FOR ROUGH WORK
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43, Akshay said ® Asrti “your mothers futher is my father's {40 ~ What s the

2, s A AR A we, “qerd of ® faet 9 fe # faet B0 @ s w5
aredt ® ot ¥ #w few Fme
(1) s
(2) ==
(3)
(OR.

w4 g A P W e et #
- -_,.‘-_,_"Ph |
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Note for Q. 46 and Q. 47 : Select the correct option to match the mirror image

of the question figure.
47. Question Figun. Answer Figure

ALY BBy (Gl (3R ()
Nz A . &e) ()

Note for Q. 48 and Q. 49 : Select the correct option to match the water image
of the question figure.

46. Question Figure

[SR)fE2] @

(1) (")

Answer Figure

48. Question Figure

N w2 W bq e
A b b b

(1) 2) (3) 4)

Answer Figure

49. Question Figure Answer Figure
2 L D A
= w 9 3
oo
(1) 2) 3) )

SPACE FOR ROUGH WORK
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W. 46 T 47 F T Gem-uvA wEfa F1 aqw F wiafda 7o T wE F § S

46, YA AFH IW FAHE
[SRJf[92] [gs] [Re] [¢4]

47. YY1 FHIA IW FFHfFEr
k Gl feloy
17.48349%1%rqu:ymmﬁa:|~;auﬁﬁh§;:=ﬂ%ﬂﬂéui:§ﬁﬁ

T 3T W WU dl SHhT U 0 Wfdafdd Al K@ W, Sei dAmmfad 9 9 SfEd
I A

48, WA S I SAHA
P b \4 A v
M WM wHXw WM W
A b b b
(1) (2) 3) “4)
49, ¥ TR
| Q ‘ Q

SPACE FOR ROUGH WORK
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55. Which of the following action of Raju is correct, when he saw garbage lying 55 R B T @a ® 9 =) T F EE T U F W - Fh s
at the place where small children were playing ? e
(1) He picked up the garbage and threw it into the dustbin. ; (1) F=4 3T FR F =T T =@
(2) He neglected it. (2) I & fam
(3) He pushed out all the children from that place. (3) |sdt == F: T ¥ wm famm
(4) He purposely tell the security person to pick up the garbage. (4) & B HwER =] FE SR & fog

Note for Q. 56 and Q. 57 : Select the figure perfectly matching to the question
figure from the given options.

w 56u57%mm—ma@ﬁrﬁmﬁ@ﬁammﬁiwﬁﬂﬁqﬁql

56. Question Figure Answer Figure 56. WA aFf I ATHTaET
. ()] (2) (3) (4) @ @ 3) 4)
57. Question Figure Answer Figure 57. YY1 3H&Hfq IW AT
\7
i
N
(1) (2) (3) ) (1) 2) (3) @
58. In a row there are 15 girls to the right side of Savita and 11 girls to her left, S8, UH han H wfawm ® A W 15 w@ehmdal 9 A 11 wefEa @
if she is standing at the middle then what is her position number ? FR A T N @A @ et -Tﬂ . o 3 =1 R g
(1) 12th (2) 13th (1) 124 @) Ba
(3) 14th (4) 15th () 1474t i (&) 153l
—SPACE VOR ROUGI WORK
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60.

61.

62.

63.

i d students in one
Students are standing for mass P.T. The number of rows an e

row is same. If 15 students are standing in each row the
number of students standing for mass P.T.?
(2) 150
@) 125

n what is the total

1) 225
3) 250

John is standing with his back towards the East. He turns to his right hand two
times at right angle. Which direction is he facing now U
(2) South

(4) North

(1) West
(3) East

Ahmed went 18 km in the west direction, then he went 11.5 km to the south,
then he went 6.5 km to the east, then he went 11.5 km to the north and he
stopped there. At what distance is he from the starting point 2

(2) 10.5 km
(4) 11.5 km

(1) 11 km
(3) 12.5 km

Mandar was born on 7th July 2007 Saturday. Which day will it be on his

second birthday ?
(1) Monday (2) Tuesday

(3) Wednesday (4) Thursday

In a certain year if 15th August falls on Monday, then in the same year 6th
September will fall on which day ?

(1) Thursday
(3) Tuesday

(2) Monday
(4) Wednesday‘

SPACE FOR ROUGH WORK
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59. FarEd & fau foaed ofel € sad @ o= wow ofm A ¥ Ak s afE o

60.

15 9= B A f9H W Fama # fau sufem @i # wEn fEE e
(1) 225 ) 150
(3) 250 4) 125

S gd R # WE e i @ ¥ 9 @ AR IR SR mEew F g ar
IuH Ye fmw fewn o g

(1) ufy=m (2) =fagm
3) (4) 3
61. 3EWR UiYE" FI SR 18 fFEH. T qeva 9@ 2w § 11.5 fRE T, 3§ W%
lﬁaﬁaﬂis.sﬁﬁrﬁwmwﬁmn.sﬁﬁﬁﬁwiﬁwa}ﬁm
o6 =M A fE ® sw w3 -
(1 11 ) 10.5
@) 12.5 4) 11.5
62. TRR FT SH.7 e 2007 WHER & & g A SEH @0 9 A e SR
EalE: L]
(1) Har (2) TR
(3) FuER (4) TEER
63. UH FY 15 ITE H WHAR O A I 9§ 6 fadER B - AR @m?
(1) TEER (2) WHER
(3) HEER (4) FuER
SPACE FOR ROUGH WORK AT
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69. Observe the venn diagram carefully and answer the following questions.

Which of the following number is seen only in the triangle ?

@ 7 2) 6 3) 5 @) 4

70. Identify the correct option to replace the question mark in the given pattern.

(1) 42 @) 32 3) 12 4) 22

71. In a certain code language if 62 = 14, 47 = 15, 95 = 23 then 38 = ?
(1) 11 2) 14 (3) 36 @) 8

72. In a certain code language if 6 = 14, 7 = 17 and 3 = 5 then 4 = ?
(Gb) =5 2) 6

G) 2 PG

SPACE FOR ROUGH WORK
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69. Wer AFA ©IM ¥ W@ § e o owR ¥ § I S
Had BS § 3R 9en 3w w9

(D7 26 35 “ 4

70. YETEH % WH W S AT W@ w1 wAE wwia da 9 fo

A
b

(1) 42 (2) 32 (3) 12 @) 22 |
\
71. U Wishfdk WM H 62 = 14, 47 = 15, 95 = 23 @l 38 = faHa?
(1) 11 (2) 14 (3) 36 ) 8
72. T Wil WM H 6 = 14, 7 = 17 93 = 5 8 @ 4 = fehaa?
(1) 4 2) 6
3) 2 4) 8
SPACE FOR ROUGH WORK
\
\
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